
A2

The cat is sitting ________ the table.

Answer: ___________________

The bird is flying ________ the trees.

Answer: ___________________

The dog is barking ________ the garden.

Answer: ___________________

The fish is swimming ________ the aquarium.

Answer: ___________________

The horse is running ________ the field.

Answer: ___________________

The snake is slithering ________ the grass.

Answer: ___________________

The monkey is hanging ________ the branch.

Answer: ___________________

The turtle is hiding ________ its shell.

Answer: ___________________

The lion is sleeping ________ the rock.

Answer: ___________________

The rabbit is jumping ________ the hole.

Answer: ___________________



Answers

The cat is sitting ________ the table.

Answer: on

The bird is flying ________ the trees.

Answer: among

The dog is barking ________ the garden.

Answer: in

The fish is swimming ________ the aquarium.

Answer: in

The horse is running ________ the field.

Answer: in

The snake is slithering ________ the grass.

Answer: through

The monkey is hanging ________ the branch.

Answer: from

The turtle is hiding ________ its shell.

Answer: inside

The lion is sleeping ________ the rock.

Answer: on

The rabbit is jumping ________ the hole.

Answer: out of


